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MAT 1420-R11

Remote College Trigonometry

SCHEDULE
Monday's
Week Where We're At

Date
1 Startup Activities, Sec 1.1 1/15
2 Secs 1.2, 1.3 1/22
3 Secs 1.4,1.5, 1.6 1/29
4 Secs 1.6,1.7,1.8 2/5

Test 1, Due Wed d 2/14
5 est 1, Due Wednesday, 2/ 212
Sec 2.1, Part |

Graphs of sine, cosine and tangent.

January 29, 2024

Spring, 2024
Page 1

There's a lot of drill-and-
kill about memarizing the
12-point unit circle in/
the book. Instead, learn
the 0-degree, 30-degree,
45-degree 60-degree,
and 90-degree right
triangles in Quadrant I.
Reason your way to the
rest and you will be much
more intuitive/stronger.

Shifting and stretching graphs, in general.

Fitting a sine or a cosine function to a data set.

Questions?
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Quadrant Angles for sine.

J = x—sin(x)

70015 AR A 25 |2

0,1,0, —1,0

Recall all the right-angle trigonometry we did?
Recall the definition of sine in 1.2? We'll use that to rought this in:

-
-

-

N

sin(?) is the y-coordinate of a point on the unit circle corresponding to the angle
t, in radians.
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Rules for transforming (and building?) functions.
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Do this for a sine !

January 29, 2024

=X
—
(&)

e\%\‘\%
g~
\\
H

e (x) has Rertod 2T

o M pariod
wl\d"s
=
‘p‘p S‘:\- (%)‘B c

when 73 l:X’QTT‘
aw ()= 127 Rercd

x= T

[



240129-notes.notebook

January 29, 2024

Las Vegas, International
sl L Falls, 1 Use Cosue @
1 57.1 13.8 hgh & low point
E 2 63.0 22.4
B = hx-&) +d
|3 69.5 349 qu0= & easl
E 4 78.1 51.5 Rertod =12 "
s 87.8 66.6 s ot Bx=2T
5 6 98.9 74.2 ol =11
2 7 104.1 78.6 b b = 277
& 8 101.8 76.3 S iy
9 93.8 64.7 >
10 80.8 51.7 ﬂ"—os(%r("f'?hl 60.6
11 66.0 325 Find ""-‘Jﬁ"‘ TG
12 57.3 18.1 thigh *Lo

) A model for the temperatures in Las Vegas is
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WebAssign is very picky

about the form of your
answer on these, but it's also
very arbitrary.

work.

—

What I want on written 80.&

M
W= 235 ews & ("'?')3
\

Sven saw my mistake.

Didn't see him point it out
until after I caught it,
myself.
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Solving Equations (briefly)

IAT Find all solutions in [=2m, 2w |
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